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1) K= (8411 : pg-TEQ/m)
BB N B
B A M R DI2FE TGIH3FE SHA4FE TGOS FE D6 EFE
8/27~28 1/27~28 7/9~16 1/7~14 7/1~8 1/11~18 T7/5~12 2/23~3/1 T7/18~25 |2/20~2/27
h S/ IR EER 0.0049 0.0039 0.0037 0.0039 0.0094 0.0092 0.0038 0.0059 0.0041 0.0056
w 8 = 8 0.0069 0.0048 0.0037 0.0093 0.0054 0.0092 0.0037 00074 0.0048 0.0095
& H = BB 0.0047 0.0098 0.0020 0.0086 0.0061 0.0120 0.0034 0.0085 0.0073 0.0049
MR DPREEE 0.0070 — 0.0042 — 0.0058 — 0.0093 — 0.0048 —
it xR = £8 0.0087 — 0.0036 — 00110 — 0.0062 — 0.0082 —
w2 - m16 S 0.0082 0.0065 — - — - — - — —
i = P SETTas REégnp P SETTas REégnp REgnp REégnp P SETTas REgnp P SETTas REgnp
IRIEECEE 0BT
2) 11 (8111 : pg-TEQ/g)
BB K B
B A M R DI2FE TGIH3FE SHA4FE SIS FE D6 FE
8/27 7/9 7/8 7/5 7/18
h S/ IR EER 1.4 1.6 1.3 15 1.4
w 8 = 88 1.0 o7 1.4 0.8 05
& H = B 28 22 1.8 27 3.1
MR DPREEE 4.8 4.7 4.4 38 28
i = REgnp REégnp RE¢np K& REgnp
IRIEECEE 1000UF
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Asraee (L=2.9km)




